ER-IERRREE-RR

SHTEs 2B RE
SEXEE BAMERRE

FFR P 2R X = R
XAH®T — KD R FEER
TETHEEF O |BS
X7 (BKE) RER=EHEE |16
(EWKE) |LIEERSIEHEE 189
: — =g ; B/NNIGRE=5, /INF AIFE=105, FA)IFE=101, BBRIIFE=9.3,
RAMBEEBEE |5 )i mit=106, 3 5)1I7k=11.4
#k HARE NFANIFRE=(9, 94), FANIFRE=(9, 9), ARRIIGRE=(9, 8.3)
BEAIEKTHR |_
wap [SLDEHE
- T b ] fE £ 20m/s
RA FHEE ELE 25m/s
. fE 20m/s EFES
== iz 5
REE FHRE B 25m/s BEHES
RE [EE DRSS 1285 E D FES10cm
KR BEKS 6.0m
=i B 2.0m
X7 KEORmEEHEE |12
TIEREEHEE 139
- s e |BNIRE=4, T A)RIE=8.4, ¥ AIGE=8, EHR)IGKE=74,
MEFRERER \sme )| mnioa 4. 8051 FiE=0.1
N . B/NNIGRE=(6, 4), [T A)IGRE=(6, 8.4), X AJIIFTE=(6, 8),
Ak LEE AR Fei=(6, 7.4), SEHEIIFisi=(10, 6.7)
BEAIEKTHR |_
IZkBEHE
W . fEE 12m/s
SR A SEEE B 5m/s
= R BE 12m/s EEES
Rz FHEE B T5m/s BEHES
AE BEEDRS 1285 EEE D iFES5cm
KR e 3.0m
AR =i B 1.8m
£ EEFICKYBEENTEINSEE
BE
. o Rt 100m
=& 1Rig B 500m
BrIR B/INEE40% TERNTE60%
BEEDFEIMN0cmU EHYRDOLT b
st | BEORombLE
2 mEsEMN2°CLlLE
3 HEYDER
35 BIESE-4°CLLT 2
& BaFEHl mIESUR3CUT
&k
== 24F5 I E MRS :20cm il Lk
1= £B:-2C~2C
EOERRO TR IR KSR 1RERE [120mm

NEREREEYN RERSIER OHEASHhEICLSREEERLTILET.
¥ SEEA AR RE DIE,



